Ratio to ATLAS

1/0d%/ d N d m™™ [1/GeV]

=
o
e

—_
<
D

0.5

13000 GeV pp
e

— 2]
- —
B M(ttbar) (ATLAS semileptonic ttbar) _ %
- 13
B ATLAS s
--3-- Herwig 7.2.1 default N
----- ¢ Sherpa 2.2.5 default n S!
—
™
— — o
— .z
- ®. 1
- ,!!,l- ‘m"‘.\\@\ ]
] ™
— <
(40
©
i o
k ™
- ¢ 1=
— 1%
I 1%
L B ] E
B Y 18
B 12
o
(@]
| | | | | | | | | ' | | | | E
: T T | T T T T | T T T T |:
- 42
} S S El E
— |‘%|— "’@ ST —
T e Y 1
’ ---------------------------- —
— —0.5
1 " 1 " | " 1 " 1 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000

mtbar{t} [GeV], I\IEXtra jet — O



	Contents
	Page 1


